Kinn

2 S0, EEX| 0| £E, S22

oY

THE!:

AR T

2 E Es ®al:
4 52 5.8.
AHIQIPA AE HA:
&= E Fs ®Mal:
LIA} £2]E 1.4305.
2 El 1.4034.
AHIZE ZSE|X| 42
LIA}F &£2]E 1.4305.
A2 El1.4305

M o2

AR HA:

&= E Fst, odob, 23 As %2
AEQIBIA AE! H{A:

HZE G5 odor & 2>

M2 E Fs odot Y ¥ IAEX| S
HH.

QIHIA EHX = &M &lof ol 22 {x|9
HZE S Wx|sloF 5= 2ol AFS & T
=EEE 502 E R CIE 2 f/xIE
O|S & &+ /US.

HFEEE ZOI7| flal 23 F QI tMHE
B2 = US A St HAZRY =
OlzHoi M Zo{M & EIO| &R R
AT E &

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 1/2



[ ]
AE [E= AEOIZIA A QISIA ZRK, SIX| O|EE, SZalA
| B D8 T8t S 2t

®
[ ‘I’ | %

- sw ]

© _I = ?

0,02
D35

L1

D1
Z= 29
oltiA ZEiX| EWX| 2
FEHS  ER EA xME EH D D1 D2 L L1L2 AEE3 SW Fx30° A& EiRE FEHS
712 A S EF&d B2 A3 57 22t
F12E.N F22. N

K0344.1105 G AEl FEET 5 M10x1 21472418 5 - 1,3 5 12 K0344.91
K0344.1206 G AEl 43 6 M12x1,5 255628 22 6 - 1,8 6 14 K0344.92
K0344.1308 G AEl 48 8 M16x1,5 33 7436 30 8 - 2,3 15 35 K0344.93
K0344.1410 G AEl dst 10 M20x1,5 33 8040 30 10 - 2,8 15 34 K0344.94
K0344.01105 G AEQIFA A& 48 5 M10x1 21472418 5 - 1,3 5 12 K0344.91
K0344.01206 G AHIQIEA A& 48 6 M12x1,5 255628 22 6 - 1,8 6 14 K0344.92
K0344.01308 G  AH|QIHA AE! A3t 8 M16x1,5 33 74 36 30 8 - 23 15 35 K0344.93
K0344.01410 G 2AEHQIFA AE 48 10 M20x1,5 33804030 10 - 2,8 15 34 K0344.94
K0344.11105 G  AE(QIEA AE HIZEEF 5 M10x1 21472418 5 - 1,3 5 12 K0344.91
K0344.11206 G  AHIQIEIA AE HIZE 6 M12x1,5 25 56 28 22 6 - 1,8 6 14 K0344.92
K0344.11308 G  AEQIFA A& HIZ8t 8 M16x1,5 33 74 36 30 8 - 2,3 15 35 K0344.93
K0344.11410 G AE|QlEA AE H|Zs 10 M20x1,5 33 80 40 30 10 - 2,8 15 34 K0344.94
K0344.2105 H AR PEE 5 M10x1 21472418 5 17 13 5 12 K0344.91
K0344.2206 H AEl 48 6 M12x1,5 255628 22 6 19 1,8 6 14 K0344.92
K0344.2308 H AE! dst 8 M16x1,5 33 74 36 30 8 24 2,3 15 35 K0344.93
K0344.2410 H AEl A3t 10 M20x1,5 33 80 40 30 10 30 2,8 15 34 K0344.94
K0344.02105 H  AEQIFA A& g8 5 M10x1 21472418 5 17 1,3 5 12 K0344.91
K0344.02206 H AE|QIEA AE] a5t 6 M12x1,5 25 56 28 22 6 19 18 6 14 K0344.92
K0344.02308 H  AHIQIFA AE! A3t 8 M16x1,5 33 74 36 30 8 24 23 15 35 K0344.93
K0344.02410 H  AEQIFA A& 48 10 M20x1,5 33804030 10 30 28 15 34 K0344.94
K0344.12105 H  AEQIEA AE HIZE3t 5 M10x1 21472418 5 17 13 5 12 K0344.91
K0344.12206 H  AHIQIHA AE! HIZEst 6 M12x1,5 25 56 28 22 6 19 1,8 6 14 K0344.92
K0344.12308 H  AEQIFA A& HIZEEt 8 M16x1,5 33 74 36 30 8 24 23 15 35 K0344.93
K0344.12410 H  AEHIQIHA AE] H|IZ48F 10 M20x1,5 33 80 40 30 10 30 28 15 34 K0344.94

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 2/2



